
 

 

                               gFjp – m                   𝟓 𝑿 𝟏 = 𝟓 

I. midj;J tpdhf;fSf;Fk; tpilasp : 
 

1. 𝐴  
1 −2
1 4

 =  
6 0
0 6

  vdpy; > A =         (1)  
1 −2
1 4

   (2)   
1 2

−1 4
    (3)  

4 2
−1 1

    (4)    
4 −1
2 1

  

 

2.   𝑖𝑛 + 𝑖𝑛−113
𝑛=1  - d; kjpg;G            (1) 1 + 𝑖 (2) 𝑖  (3) 1   (4) 0  

3.  
1 2 3 4
2 4 6 8

−1 −2 −3 −1

  –d; mzpj;juk;       (1) 1   (2) 3   (3) 4   (4) 2 

4. 
𝑧−1

𝑧+1
  vd;gJ KOtJk; fw;gid vdpy;  𝑧  - d; kjpg;G     (1) 2  (2) 1  (3) 3   (4) 

1

2
 

5.  𝑎𝑑𝑗(𝑎𝑑𝑗𝐴) =   𝐴 9 , vdpy; rJu mzp A –d; tupirahdJ    (1) 3  (2)  4   (3)  5   (4) 2 

                               gFjp -M                 𝟓𝑿 𝟐 = 𝟏𝟎 
II. vitNaDk; Ie;J tpdhf;fSf;F tpilasp ( tpdh vz; 12 fl;lha tpdh ) 
 

6. adjA  =  
−1 2 2
1 1 2
2 2 1

  vdpy; 𝐴−1 iaf; fhz;f 

7. RUf;Ff  𝑖𝑖2𝑖3 ……𝑖1000 

8. 𝑧 =  2 + 3𝑖 (1 − 𝑖) vdpy; 𝑧−1 – iaf; fhz;f  

9.  1 −2   −1 0
3 −6   −3 1

  vd;w mzpf;F rpw;wzpf;Nfhitiag; gad;gLj;jp mzpj;juk; fhz;f. 

10. 5x +2y = 3 , 3x + 2y = 5 vd;w Neupar; rkd;ghl;Lj; njhFg;ig Neu;khW mzp fhzy; Kiwapy; jPu;f;f 
11. -6+8i – d; tu;f;f%yk; fhz;f. 

 12. 
3

𝑥
+ 2𝑦 = 12 ,

2

𝑥
+ 3𝑦 = 13  vd;w Neupar; rkd;ghl;Lj; njhFg;ig fpuhkupd; tpjpg;gb jPu;f;f 

                         gFjp - ,                      𝟓𝑿 𝟑 = 𝟏𝟓 
III. vitNaDk; Ie;J tpdhf;fSf;F tpilasp ( tpdh vz; 19 fl;lha tpdh ) 
 

13. adjA =  
7 7 −7

−1 11 7
11 5 7

  vdpy; > A-iaf; fhz;f 

14. A =  
8 −4

−5 3
  vdpy; A(adjA) = (adjA) A =  𝐴  𝐼2 vd;gijr; rupghu;f;f. 

15. A =  
3 2
7 5

  kw;Wk; B =  
−1 −3
5 2

  vdpy; (𝐴𝐵)−1 = 𝐵−1𝐴−1 vd;gijr; rupghu;f;f. 

16.  

1 2 −1
3 −1 2
1 −2 3
1 −1 1

  vd;w mzpia VWgb tbtpy; khw;wp mzpj;juk; fhz;f. 

17. 3𝑖 +
1

2−𝑖
 I nrt;tf tbtpy; vOJf  

gs;spf;fy;tpj;Jiw – fs;sf;Fwpr;rp khtl;lk;;                                             

Nky;epiy ,uz;lhkhz;L – myFNju;T –1  etk;gu;; 2021 
fzpjtpay; 

fhyk;: 1.30 kzp                                          kjpg;ngz;fs; : 50 
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18.  𝑧3 +2 𝑧  = 0  vd;w rkd;ghl;bw;F Ie;J jPu;Tfs; ,Uf;Fk; vd epWTf. 

19.  𝑍 = 1 vdpy;  2 ≤  𝑍2 − 3 ≤ 4   vdf;fhl;Lf. 

                       gFjp-<                          4𝑿 𝟓 = 𝟐𝟎 
IV. midj;J tpdhf;fSf;F tpilaspf;fTk;. 

20 . A = 
1

7
 
6 −3 𝑎
𝑏 −2 6
2 𝑐 3

  vd;gJ nrq;Fj;J mzp vdpy; a , b kw;Wk; c fspd; kjpg;igf; fhz;f. 

,jpypUe;J 𝐴−1 iaf; fhz;f. (my;yJ) 

          x + y + z -2  = 0 , 6x -4y +5z -31 = 0 , 5x + 2y + 2z = 13 vd;w Neupar; rkd;ghl;Lj; njhFg;ig   

Neu;khW mzp fhzy; Kiwapy; jPu;f;f. 

21. 
3

𝑥
 - 

4

𝑦
 - 

2

𝑧
 -1 = 0 , 

1

𝑥
 + 

2

𝑦
 + 

1

𝑧
 - 2 = 0 , 

2

𝑥
 - 

5

𝑦
 - 

4

𝑧
 + 1 = 0 vd;w Neupar; rkd;ghl;Lj; njhFg;ig 

fpuhkupd; tpjpg;gb jPu;f;f.   (my;yJ) 

   xU njhif & 65>000 Mz;bw;F KiwNa 6% , 8%  kw;Wk; 10% vd;w tl;b tPjj;jpy; %d;W 

gj;jpuq;fspy; KjyPL nra;ag;gLfpwJ. nkhj;j Mz;L tUkhdk; & 5>000. %d;whtJ gj;jpuj;jpy; 

fpilf;Fk; tUkhdkhdJ ,uz;lhtJ gj;jpuj;jpy; fpilf;Fk; tUkhdj;ij tpl & 800 mjpfk; 

vdpy; xt;nthU gj;jpuj;jpYk; KjyPL nra;ag;gl;l njhifiaf; fhz;f.( fh]; ePf;fy; Kiwia 

gad;gLj;Jf). 

22 . gpd;tUk; Neupar; rkd;ghl;Lj; njhFg;ig fh];]pad; ePf;fy; Kiwapy; jPu;f;f : 

    4x + 3y + 6z = 25 , x + 5y + 7z = 13 , 2x +9y + z = 1 (my;yJ) 

        T20  Ml;lnkhd;wpy; filrp Xtupy; 1 ge;J kl;Lk; tPrg;gl Ntz;ba epiyapy; Xu; 

mzpahzJ 6 ud;fs; ngw;why; kl;LNk ntw;wp ngWk; epiyapy; ,Ue;jJ. filrp ge;J 

kl;ilaUf;F tPrg;gl;lJ.mtu; mjid kpf cauk; nry;YkhW mbf;fpwhu;.ge;jhdJ nrq;Fj;J 

jsj;jpy; nrd;w ghij mj;jsjpjpy; y = a𝑥2 + bx + c  vd;w rkd;ghl;bd;gb cs;sJ. ge;jhdJ (10 , 

8 ) , (20,16), (40,22)  vd;w Gs;spfs; topahfr; nry;fpwJ vdpy; mt;tzpahdJ Ml;lj;ij ntd;wjh 

vd;gij KbT nra;ayhkh ? cdJ tpilapid fpuhku; tpjpiaf; nfhz;L epahag;gLj;Jf.(vy;yh 

njhiyTfSk; kPl;lu; mstpy; cs;sd. ge;J nrd;w ghijapd; jskhdJ kpfj;njhiytpy; cs;s 

vy;iyf; Nfhl;bid (70>0)   vd;w Gs;spapy; re;jpf;Fk;) 

23. 𝑧1 > 𝑧2 kw;Wk; 𝑧3 vd;w fyg;ngz;fs;  𝑧1  =  𝑧2  =  𝑧3  = r > 0  kw;Wk; 𝑧1 + 𝑧2 + 𝑧3 ≠ 0 vdTk;    

,Ue;jhy;  
𝑧1𝑧2+𝑧2𝑧3+𝑧3 𝑧1

𝑧1+𝑧2+𝑧3
  = r  vd epWTf. (my;yJ) 

        z = x + i y vd;w VNjDk; xU fyg;ngz; Im 
2𝑧+1

𝑖𝑧+1
  = 0 vDkhW mike;jhy; z-d; epakg;ghij  

2𝑥2 + 2𝑦2 + x -2y = 0  vdf; fhl;Lf. 
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